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Q 1. Fraer R Fe F FaT GEEET 22 Read the passage carefully and give answer
Rita is a little girl who loves animals. One day,

(A) AP ABFAEI  (B) AHIEI R T &1 she went to the zoo with her parents.She saw
(C) ¥t &t wrrer 81l & (D) 2t &t it 81 &' many animals like lions, elephants, monkeys, and
Q2. s A FA s d 82 giraffes.Rita's favorite animals were the monkeys
(A) T arft e & (B) TeR aroft e & because they were jumping and playing.She gave
(C) U ami s d (D) Fedtamh s @ bananas to the monkeys, and they looked very
Q 3. FeR ATt & T A 2 ' happy.Rita enjoyed her day at the zoo and took

) ) many pictures with her family.
(A) Fot sft srg s < €1 (B) o ot g o €1 Q 11. Did Rita go with her parents?
(C)fsffrssddl (D) wg ATl (A) Park (B) Zoo
Q 4. Ty &1 3T il 8- (C) School (D) Market
(A) whuanfisrag  (B) &g amvit & Aewa Q 12. Which animal was Rita’s favorite?
@ awolant  (O)mgah @ | (O EePhent e
Q 5. rerisr & 2t STiferares g H-H H 87 Q 13. What did Rita give to the monkeys?
(A) =iae, 7R (B) =g, 77 (A) Apples (B) Carrots
(C) MR, 217 (D) 7=, cafha (C) Bananas (D) Bread
Q 6. TEH U FHT g E? Q 14. How did the monkeys feel after

TRy receiving the bananas?
Eg)) EEB))) ﬁ EA)) Sad EB; Happy

TR C) Angry D) Scared
Q7. fag 7Tq «reaf A & 99 see ol ff@U ST @A & | Q 15.What did Rita do at the zoo with her
T ATT 8 family?
A) TS B (A) Took pictures (B) Sang songs
Ec;ﬂa ED;GGT“:?F (C) Ate ice cream (D) Ride a bicycle
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Q 16. Which of these is a noun?

(A) Run. (B) Happy

(C) Dog (D) Quickly

Q 17. Which word is a verb?

(A) Swim (B) Chair

(C) Blue (D) Quiet

Q 18. Which of these is an adjective?

(A) Jump (B) Apple

(C) Green (D) Quickly

Q 19. What is the plural form of “cat”?

(A) Cats (B) Cat’s

(C) Cates (D) Cat

Q 20. Choose the correct sentence.

(A) She are happu. (B) She is happy.

(C) She am happuy. (D) She be happy.

Q 21. TR ZRT fhadh e gq "amiSia aifd
TISTHT F A TS 8l

(A) =1 <hY & (B) e Y zam

(C) ugTst &t 28w (D) Sfia siqait &t zam

Q 22. fAy=TY= 3rFE A WRA &l fhw dw & vl
e

(A) fordhe (B)Featet

(C) erass (D) Asfies

Q 23. yu # o g@E= Fi far ot aar Fga 21
(A) SaTET (B) Asfefienzor

(C) usgiarror (D) ufra=

Q 24, ZET AT IAH Fgl gl

(A) 7ERTE (B) afAerTg

(C) IaTw2en (D) ITRr@vE

Q 25. % st g1 foha it wgraan gq foifa o e
ferar mam

(A) T (B) =T

(Y (D) it

Q 26. A% & | i |1 Hehe U U=l 21

Q 29. 3 3Rk [Sieret T ugfa foha & wahT gl &1
(A) O TS (B) W f&=ns

(C) et FATE (D) w8

Q 30. G ZRT URIRT & IS T4 i fokar vr )

(A) TRIST H2ATOT| (B) &= foram

(C) gRa == (D) amsfieror

Q31. 6, 4,1,0,9,3,8 3 3ichl T I AT IQ SIS
HETE -

(A) 4093816 (B) 9864310

(C) 1034689 (D) 1098643

Q 32. & T=T3HT T 3R 99673 §, BIE WL=AT 362781
&, ot gt T ghft -

(A) 263108 (B) 462454

(€)336892 (D) 5625454

Q33. 46580 x............ = 307 x 46580

(AN (B)307

(©)o (D) 100

Q 34. Tl WISTeh 483, WRTHeT 403 T AT 50 gt at
HISg g -

(A) 195687 (B) 995688

(C)194699 (D) 188675

Q 35. 6499 Y T HETH 13 & UIT & TR HRTHHA
frar g -

(A) 499 (B) 409 (C) 500
(D) 49

Q 36. Qeh ShHElT H HeATAhI | 5.2 e gu I=di | aver
TRTER 1T SIIET & Shell § 26 =1 g df Uclieh 9= ahl
R gu A g2

(A) 2.0+t (B) 0.02+ (C) 0.2+ (D)0.002+1

Q 37. aft 3 A ux Ao H 115.50 FUY 1A & at 0
2 9 Ao v W # fohaa $ug wfa?

(A) 34 % (B) 340.5 % (C) 346.5% (D) 34253

Q 38. 0.09 =1 ufaera & A= fra=m ghm?
(A)90%  (B)9%  (C)10% (D) 100%

(A) =T e (B) #wry Q 39. Rrerrera & great ¥ R vt &g Atset amman
(C)fﬂa- (D) frergt 2 Tl 7 20% femeff Regin & af¥ oer anfe st Hr
Q 27. SiTTeT HTARR HILH el 4T ATI W= 15 & it e Reaainr st 3 it fam?
G s LI
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o 26, ndir e e e g{;o?mm ©CTU <hl TE=AT 276489 W &l
(A)15 3T (B)29 RRwwerR (A)823510 (B)635511 (C)722511 (D) 72351
(C)29 3P (D)26 STHa
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